

## On the $f$ -biharmonic Maps and Submanifolds

KADDOUR ZEGGA\* AND A. MOHAMED CHERIF

*Department of Mathematics, Mascara University, Mascara, 29000, Algeria*  
*e-mail: kaddourzegga@hotmail.fr and ahmedcherif29@hotmail.fr*

MUSTAPHA DJAA

*Department of Mathematics, Relizane Center University, Relizane, 48000, Algeria*  
*e-mail: djaamustapha@live.com*

ABSTRACT. In this paper, we prove that every  $f$ -biharmonic map from a complete Riemannian manifold into a Riemannian manifold with non-positive sectional curvature, satisfying some condition, is  $f$ -harmonic. Also we present some properties for the  $f$ -biharmonicity of submanifolds of  $S^n$ , and we give the classification of  $f$ -biharmonic curves in 3-dimensional sphere.

### 1. Introduction

Let  $f : (M^m, g) \rightarrow (0, +\infty)$  be a smooth function. An  $f$ -harmonic map is a map  $\varphi : (M^m, g) \rightarrow (N^n, h)$  between two Riemannian manifolds that is a critical point of the  $f$ -energy

$$E_f(\varphi; D) = \frac{1}{2} \int_D f |d\varphi|^2 v_g,$$

for any compact domain  $D$ , where  $v_g$  is the volume element (see [2],[5],[10]).

The  $f$ -tension field of  $\varphi$  is given by

$$\tau_f(\varphi) = \text{trace}_g \nabla f d\varphi = f \tau(\varphi) + d\varphi(\text{grad}^M f).$$

The  $f$ -tension field of  $\varphi$  vanishes ( $\tau_f(\varphi) = 0$ ) means that  $\varphi$  is a harmonic map.

---

\* Corresponding Author.

Received March 2, 2014; revised July 17, 2014; accepted September 19, 2014.

2010 Mathematics Subject Classification: 53A45, 53C20, 58E20.

Key words and phrases: Submanifolds,  $f$ -harmonic maps,  $f$ -biharmonic maps.

For any compact domain  $D \subseteq M$ , the  $f$ -bienergy is defined by

$$(1.1) \quad E_{2,f}(\varphi; D) = \frac{1}{2} \int_D |\tau_f(\varphi)|^2 v_g,$$

$\varphi$  is called  $f$ -biharmonic if  $\varphi$  is a critical point of the  $f$ -bienergy functional for any compact domain  $D$ . The Euler-Lagrange equation associated to the  $f$ -bienergy functional is given by

$$(1.2) \quad \begin{aligned} \tau_{2,f}(\varphi) \equiv & -f \operatorname{trace}_g R^N(\tau_f(\varphi), d\varphi)d\varphi \\ & - \operatorname{trace}_g (\nabla^\varphi f(\nabla^\varphi \tau_f(\varphi)) - f \nabla_{\nabla_M}^\varphi \tau_f(\varphi)) = 0, \end{aligned}$$

for an orthonormal frame  $\{e_1, \dots, e_m\}$ , we have

$$\begin{aligned} \operatorname{trace}_g R^N(\tau_f(\varphi), d\varphi)d\varphi &= \sum_{i=1}^m R^N(\tau_f(\varphi), d\varphi(e_i))d\varphi(e_i), \\ \operatorname{trace}_g (\nabla^\varphi f \nabla^\varphi \tau_f(\varphi) - f \nabla_{\nabla_M}^\varphi \tau_f(\varphi)) &= \sum_{i=1}^m \left\{ \nabla_{e_i}^\varphi f(\nabla_{e_i}^\varphi \tau_f(\varphi)) - f \nabla_{\nabla_{e_i}^M}^\varphi \tau_f(\varphi) \right\}. \end{aligned}$$

$\tau_{2,f}(\varphi)$  is called the  $f$ -bitension field of  $\varphi$ . The solutions of the equation (1.2) are the biharmonic maps ([5],[10]).

The  $f$ -harmonic and  $f$ -biharmonic concept is a natural generalization of harmonic maps ( Eells and Sampson [7]),  $p$ -harmonic and exponentially harmonic maps ( Eells [6]) and biharmonic maps ( Jiang [8]). In mathematical physics,  $f$ -harmonic maps, relate to the equations of the motion of a continuous system of spins ([4]) and the gradient Ricci-soliton structure ([11]).

In this paper, we prove that every  $f$ -biharmonic map from a complete Riemannian manifold into a Riemannian manifold with non-positive sectional curvature, satisfies some condition, is  $f$ -harmonic (Theorem 2.3). Also we present some properties for the  $f$ -biharmonicity of submanifolds of  $S^n$  (Theorem 3.1), and we give the classification of  $f$ -biharmonic curves in 3-dimensional sphere (Theorem 4.1).

## 2. Some Results on $f$ -harmonic and $f$ -biharmonic Maps

Let  $\varphi : (M^m, g) \rightarrow (N^n, h)$  be a smooth immersed map between two Riemannian manifolds. Then  $\varphi^{-1}(TN)$  is decomposed into direct sum  $\mathcal{T}(M) \oplus \mathcal{N}(M)$  of tangent fiber  $\mathcal{T}(M)$  and normal fiber  $\mathcal{N}(M)$ . If  $f \in C^\infty(M)$  be a smooth positive function, then

$$(2.1) \quad (\nabla_X^\varphi f d\varphi)(Y) = \nabla_X^\varphi (f d\varphi(Y)) - f d\varphi(\nabla_X^M Y) = B_f(X, Y)$$

for all vector fields  $X, Y \in \Gamma(TM)$ . For any orthonormal frame  $\{e_1, \dots, e_m\}$  on  $M$ , we have

$$(2.2) \quad \tau_f(\varphi) = \sum_{i=1}^m B_f(e_i, e_i) \in \mathcal{N}(M).$$

**Proposition 2.1.** For any vector fields  $\xi \in \mathcal{N}(M)$  and  $X, Y \in \Gamma(TM)$ , we have

$$(2.3) \quad h(B_f(X, Y), \xi) = fh(A_\xi(X), d\varphi(Y))$$

where  $A_\xi$  denote the shape operator with respect to  $\xi$  defined by:

$$(2.4) \quad \nabla_X^N \xi = -A_\xi(X) + \nabla_X^\perp \xi.$$

*Proof.* Since  $\xi \in \mathcal{N}(M)$  and  $d\varphi(Y) \in \mathcal{T}(M)$ , then we have:

$$h(\xi, fd\varphi(Y)) = 0.$$

Whence

$$\begin{aligned} 0 &= \nabla_X h(\xi, fd\varphi(Y)) \\ &= h(\nabla_X^N \xi, fd\varphi(Y)) + h(\xi, \nabla_X^\varphi fd\varphi(Y)) \\ &= h(\nabla_X^N \xi, fd\varphi(Y)) + h(\xi, \nabla_X^\varphi fd\varphi(Y) + fd\varphi(\nabla_X^M Y)) \\ &= h(-A_\xi(X) + \nabla_X^\perp \xi, fd\varphi(Y)) + h(\xi, B_f(X, Y)) \\ &= -h(A_\xi(X), fd\varphi(Y)) + h(\xi, B_f(X, Y)) \end{aligned}$$

□

**Proposition 2.2.** If  $\nabla_X^N \tau_f(\varphi) = 0$  for any vector field  $X \in \Gamma(TM)$ , then  $\tau_f(\varphi) = 0$ .

*Proof.* From the formula (2.4) with  $\xi = \tau_f(\varphi)$ , we have  $A_{\tau_f(\varphi)}(X) = 0$ .

By the Proposition 2.1, we obtain:

$$h(B_f(X, Y), \tau_f(\varphi)) = fh(A_{\tau_f(\varphi)}(X), d\varphi(Y)) = 0,$$

and

$$|\tau_f(\varphi)|^2 = \sum_{i=1}^m h(B_f(e_i, e_i), \tau_f(\varphi)) = 0,$$

where  $X, Y \in \Gamma(TM)$  and  $\{e_1, \dots, e_m\}$  is an orthonormal frame on  $M$ . □

**Theorem 2.3.** Let  $(M^m, g)$  be a complete Riemannian manifold with infinite volume and  $(N^n, h)$  be a Riemannian manifold with non-positive sectional curvature. Let  $f$  be a smooth positive function on  $M$ . If  $\varphi : (M^m, g) \rightarrow (N^n, h)$  is an  $f$ -biharmonic map with finite  $f$ -bienergy, satisfying:

$$(2.5) \quad \text{trace}_g \nabla^\varphi f \nabla^\varphi - f \text{trace}_g \nabla^\varphi \nabla^\varphi \leq 0$$

then  $\varphi$  is  $f$ -harmonic.

The inequality (2.5) means that for any vector field  $X \in \Gamma(\varphi^{-1}(TN))$  and any orthonormal frame  $(e_i)_i$  on  $M$ , we have:

$$\sum_{i=1}^m h(\nabla_{e_i}^\varphi f \nabla_{e_i}^\varphi X, X) - fh(\nabla_{e_i}^\varphi \nabla_{e_i}^\varphi X, X) = \sum_{i=1}^m h(e_i(f) \nabla_{e_i}^\varphi X, X) \leq 0.$$

*Proof.* Assume that  $\varphi : (M^m, g) \rightarrow (N^n, h)$  is  $f$ -biharmonic. Fix a point  $x \in M$  and let  $\{e_1, \dots, e_m\}$  be an orthonormal frame with respect to  $g$  on  $M$ , such that  $\nabla_{e_i}^M e_j = 0$ , at  $x$  for all  $i, j = 1, \dots, m$ .

From formula (1.2), we obtain:

$$-f \sum_{i=1}^m R^N(\tau_f(\varphi), d\varphi(e_i))d\varphi(e_i) - \sum_{i=1}^m \nabla_{e_i}^\varphi f \nabla_{e_i}^\varphi \tau_f(\varphi) = 0,$$

then, we have

$$h\left(f \sum_{i=1}^m R^N(\tau_f(\varphi), d\varphi(e_i))d\varphi(e_i), \tau_f(\varphi)\right) + h\left(\sum_{i=1}^m \nabla_{e_i}^\varphi f \nabla_{e_i}^\varphi \tau_f(\varphi), \tau_f(\varphi)\right) = 0,$$

and

$$\begin{aligned} -h\left(f \sum_{i=1}^m \nabla_{e_i}^\varphi \nabla_{e_i}^\varphi \tau_f(\varphi), \tau_f(\varphi)\right) &= -h\left(f \sum_{i=1}^m \nabla_{e_i}^\varphi \nabla_{e_i}^\varphi \tau_f(\varphi), \tau_f(\varphi)\right) \\ &\quad + h\left(f \sum_{i=1}^m R^N(\tau_f(\varphi), d\varphi(e_i))d\varphi(e_i), \tau_f(\varphi)\right) \\ (2.6) \quad &\quad + h\left(\sum_{i=1}^m \nabla_{e_i}^\varphi f \nabla_{e_i}^\varphi \tau_f(\varphi), \tau_f(\varphi)\right). \end{aligned}$$

Since,  $\text{trace}_g h(\nabla^\varphi f \nabla^\varphi \tau_f(\varphi), \tau_f(\varphi)) - \text{trace}_g h(f \nabla^\varphi \nabla^\varphi \tau_f(\varphi), \tau_f(\varphi)) \leq 0$ , and the sectional curvature of  $N$  is non-positive, from (2.6) we deduce

$$(2.7) \quad -h\left(\sum_{i=1}^m \nabla_{e_i}^\varphi \nabla_{e_i}^\varphi \tau_f(\varphi), \tau_f(\varphi)\right) \leq 0.$$

Let  $\rho$  be a smooth function with compact support on  $M$ , by (2.7) we have

$$-h\left(\sum_{i=1}^m \nabla_{e_i}^\varphi \nabla_{e_i}^\varphi \tau_f(\varphi), \rho^2 \tau_f(\varphi)\right) \leq 0,$$

is equivalent to

$$(2.8) \quad -\sum_{i=1}^m e_i \left( h(\nabla_{e_i}^\varphi \tau_f(\varphi), \rho^2 \tau_f(\varphi)) \right) + \sum_{i=1}^m h(\nabla_{e_i}^\varphi \tau_f(\varphi), \nabla_{e_i}^\varphi \rho^2 \tau_f(\varphi)) \leq 0.$$

by the Stoke's theorem, we have

$$(2.9) \quad \int_M \sum_{i=1}^m e_i \left( h(\nabla_{e_i}^\varphi \tau_f(\varphi), \rho^2 \tau_f(\varphi)) \right) v_g = 0.$$

From formulae (2.8) and (2.9), we obtain

$$(2.10) \quad \int_M \sum_{i=1}^m \rho^2 |\nabla_{e_i}^\varphi \tau_f(\varphi)|^2 v_g + \int_M \sum_{i=1}^m 2\rho e_i(\rho) h(\nabla_{e_i}^\varphi \tau_f(\varphi), \tau_f(\varphi)) v_g \leq 0.$$

By the Young's inequality we have

$$(2.11) \quad -2h(\rho \nabla_{e_i}^\varphi \tau_f(\varphi), e_i(\rho) \tau_f(\varphi)) \leq \epsilon \rho^2 |\nabla_{e_i}^\varphi \tau_f(\varphi)|^2 + \frac{1}{\epsilon} e_i(\rho)^2 |\tau_f(\varphi)|^2.$$

From (2.10) and (2.11) we deduce the inequality

$$(2.12) \quad \begin{aligned} \int_M \sum_{i=1}^m \rho^2 |\nabla_{e_i}^\varphi \tau_f(\varphi)|^2 v_g &\leq \epsilon \int_M \sum_{i=1}^m \rho^2 |\nabla_{e_i}^\varphi \tau_f(\varphi)|^2 v_g \\ &+ \frac{1}{\epsilon} \int_M \sum_{i=1}^m e_i(\rho)^2 |\tau_f(\varphi)|^2 v_g. \end{aligned}$$

Let  $\epsilon = \frac{1}{2}$ , by (2.12) we have

$$(2.13) \quad \frac{1}{2} \int_M \sum_{i=1}^m \rho^2 |\nabla_{e_i}^\varphi \tau_f(\varphi)|^2 v_g \leq 2 \int_M \sum_{i=1}^m e_i(\rho)^2 |\tau_f(\varphi)|^2 v_g.$$

consider the smooth function  $\rho = \rho_R$ , such that,  $\rho \leq 1$  on  $M$ ,  $\rho = 1$  on the ball  $B(x, R)$ ,  $\rho = 0$  on  $M \setminus B(x, 2R)$  and  $|\text{grad}^M \rho| \leq \frac{2}{R}$ . Then

$$(2.14) \quad \frac{1}{2} \int_M \rho^2 \sum_{i=1}^m |\nabla_{e_i}^\varphi \tau_f(\varphi)|^2 v_g \leq \frac{8}{R^2} \int_M |\tau_f(\varphi)|^2 v_g.$$

Since  $E_{2,f}(\varphi) = \frac{1}{2} \int_M |\tau_f(\varphi)|^2 v_g < \infty$ , when  $R \rightarrow \infty$ , we obtain

$$\frac{1}{2} \int_M \sum_{i=1}^m |\nabla_{e_i}^\varphi \tau_f(\varphi)|^2 v_g = 0,$$

therefore

$$\nabla_{e_i}^\varphi \tau_f(\varphi) = 0,$$

for all  $i = 1, \dots, m$ , using the Proposition 2.2, we deduce  $\tau_f(\varphi) = 0$ .  $\square$

### 3. $f$ -biharmonic Submanifolds in Spheres

Let  $M$  be a submanifold of  $\mathbb{S}^n$  of dimension  $m$ ,  $\mathbf{i} : M \rightarrow \mathbb{S}^n$  be the canonical inclusion and  $f \in C^\infty(M)$  be a smooth positive function. We denote by  $B$  the second fundamental form of the submanifold  $M$ , by  $A$  the shape operator, by  $H$  the mean curvature vector field of  $M$ .

**Theorem 3.1.** *The map  $\mathbf{i}$  is  $f$ -biharmonic if and only if*

$$\begin{aligned} & (m-1)f \operatorname{grad}^M f + 3mf A_H(\operatorname{grad}^M f) + \frac{1}{2} \operatorname{grad}^M(|\operatorname{grad}^M f|^2) \\ & - \frac{m^2}{2} f^2 \operatorname{grad}^M(|H|^2) + 2mf^2 \sum_{i=1}^m A_{(\nabla_{e_i}^{\mathbb{S}^n} H)^\perp}(e_i) + f \operatorname{Ricci}^M(\operatorname{grad}^M f) \\ & + f \operatorname{grad}^M(\Delta^M f) + f \sum_{i=1}^m A_{B(e_i, \operatorname{grad}^M f)}(e_i) = 0, \end{aligned}$$

$$\begin{aligned} & m^2 f^2 H + m|\operatorname{grad}^M f|^2 H + 3mf (\nabla_{\operatorname{grad}^M f}^{\mathbb{S}^n} H)^\perp + B(\operatorname{grad}^M f, \operatorname{grad}^M f) \\ & + mf(\Delta^M f)H + mf^2 \sum_{i=1}^m B(e_i, A_H(e_i)) + mf^2(\Delta^\perp H) \\ & + f \sum_{j=1}^m B(e_j, \nabla_{e_j}^M \operatorname{grad}^M f) + f \sum_{i=1}^m (\nabla_{e_i}^{\mathbb{S}^n} B(e_i, \operatorname{grad}^M f))^\perp = 0. \end{aligned}$$

where  $\{e_1, \dots, e_m\}$  be an orthonormal frame.

To prove the Theorem 3.1, we need the following lemma:

**Lemma 3.2.** *Let  $\Delta^\perp$  the Laplacian in the normal bundle of  $M$ , then*

$$\begin{aligned} \operatorname{trace}(\nabla^{\mathbb{S}^n})^2 H &= -\frac{m}{2} \operatorname{grad}^M(|H|^2) + 2 \sum_{i=1}^m A_{(\nabla_{e_i}^{\mathbb{S}^n} H)^\perp}(e_i) \\ &+ \sum_{i=1}^m B(e_i, A_H(e_i)) + \Delta^\perp H. \end{aligned}$$

*Proof.* Let  $\{e_1, \dots, e_m\}$  be an orthonormal frame such that  $\nabla_{e_i}^M e_j = 0$  at  $x \in M$  for

all  $i, j = 1, \dots, m$ . Then calculating at  $x$

$$\begin{aligned}
 \sum_{i=1}^m \nabla_{e_i}^{\mathbb{S}^n} \nabla_{e_i}^{\mathbb{S}^n} H &= \sum_{i=1}^m \nabla_{e_i}^{\mathbb{S}^n} (A_H(e_i) + (\nabla_{e_i}^{\mathbb{S}^n} H)^\perp) \\
 &= \sum_{i=1}^m \nabla_{e_i}^M A_H(e_i) + \sum_{i=1}^m B(e_i, A_H(e_i)) \\
 (3.1) \quad &+ \sum_{i=1}^m A_{(\nabla_{e_i}^{\mathbb{S}^n} H)^\perp}(e_i) + \sum_{i=1}^m (\nabla_{e_i}^{\mathbb{S}^n} (\nabla_{e_i}^{\mathbb{S}^n} H)^\perp)^\perp.
 \end{aligned}$$

Since  $\langle A_H(X), Y \rangle = -\langle B(X, Y), H \rangle$  for all  $X, Y \in \Gamma(TM)$ , we get

$$\begin{aligned}
 \sum_{i=1}^m \nabla_{e_i}^M A_H(e_i) &= \sum_{i,j=1}^m \langle \nabla_{e_i}^M A_H(e_i), e_j \rangle e_j \\
 &= \sum_{i,j=1}^m e_i (\langle A_H(e_i), e_j \rangle) e_j \\
 &= - \sum_{i,j=1}^m e_i (\langle B(e_i, e_j), H \rangle) e_j \\
 &= - \sum_{i,j=1}^m e_i (\langle \nabla_{e_j}^{\mathbb{S}^n} e_i, H \rangle) e_j.
 \end{aligned}$$

Since  $\nabla_X^{\mathbb{S}^n} \nabla_Y^{\mathbb{S}^n} = R^{\mathbb{S}^n}(X, Y)Z + \nabla_Y^{\mathbb{S}^n} \nabla_X^{\mathbb{S}^n} + \nabla_{[X, Y]}^{\mathbb{S}^n} Z$  for all  $X, Y, Z \in \Gamma(T\mathbb{S}^n)$ ,

$$\begin{aligned}
 \sum_{i=1}^m \nabla_{e_i}^M A_H(e_i) &= - \sum_{i,j=1}^m \langle \nabla_{e_i}^{\mathbb{S}^n} \nabla_{e_j}^{\mathbb{S}^n} e_i, H \rangle e_j - \sum_{i,j=1}^m \langle \nabla_{e_j}^{\mathbb{S}^n} e_i, \nabla_{e_i}^{\mathbb{S}^n} H \rangle e_j \\
 &= - \sum_{i,j=1}^m \langle R^{\mathbb{S}^n}(e_i, e_j) e_i, H \rangle e_j - \sum_{i,j=1}^m \langle \nabla_{e_j}^{\mathbb{S}^n} \nabla_{e_i}^{\mathbb{S}^n} e_i, H \rangle e_j \\
 &\quad - \sum_{i,j=1}^m \langle B(e_i, e_j), (\nabla_{e_i}^{\mathbb{S}^n} H)^\perp \rangle e_j.
 \end{aligned}$$

Since  $R^{\mathbb{S}^n}(X, Y)Z = \langle Y, Z \rangle X - \langle X, Z \rangle Y$  for all  $X, Y, Z \in \Gamma(T\mathbb{S}^n)$ ,

$$\begin{aligned}
\sum_{i=1}^m \nabla_{e_i}^M A_H(e_i) &= - \sum_{i,j=1}^m e_j (\langle \nabla_{e_i}^{\mathbb{S}^n} e_i, H \rangle) e_j + \sum_{i,j=1}^m \langle \nabla_{e_i}^{\mathbb{S}^n} e_i, \nabla_{e_j}^{\mathbb{S}^n} H \rangle e_j \\
&\quad + \sum_{i,j=1}^m \langle A_{(\nabla_{e_i}^{\mathbb{S}^n} H)^\perp}(e_i), e_j \rangle e_j \\
&= -m \sum_{j=1}^m e_j (\langle H, H \rangle) e_j + m \sum_{j=1}^m \langle H, \nabla_{e_j}^{\mathbb{S}^n} H \rangle e_j \\
&\quad + \sum_{i=1}^m A_{(\nabla_{e_i}^{\mathbb{S}^n} H)^\perp}(e_i) \\
(3.2) \quad &= -\frac{m}{2} \sum_{j=1}^m e_j (\langle H, H \rangle) e_j + \sum_{i=1}^m A_{(\nabla_{e_i}^{\mathbb{S}^n} H)^\perp}(e_i).
\end{aligned}$$

By (3.1) and (3.2) the Lemma 3.2. follows.  $\square$

*Proof of Theorem 3.1.* The  $f$ -tension field of  $\mathbf{i}$  is given by

$$\begin{aligned}
\tau_f(\mathbf{i}) &= f \tau(\mathbf{i}) + d\mathbf{i}(\text{grad}^M f) \\
&= m f H + \text{grad}^M f.
\end{aligned}$$

Let  $\{e_1, \dots, e_m\}$  be an orthonormal frame such that  $\nabla_{e_i}^M e_j = 0$  at  $x \in M$  for all  $i, j = 1, \dots, m$ . Then calculating at  $x$

$$\begin{aligned}
\sum_{i=1}^m R^{\mathbb{S}^n}(\tau_f(\mathbf{i}), d\mathbf{i}(e_i))d\mathbf{i}(e_i) &= m f \sum_{i=1}^m R^{\mathbb{S}^n}(H, e_i)e_i \\
&\quad + \sum_{i=1}^m R^{\mathbb{S}^n}(\text{grad}^M f, e_i)e_i.
\end{aligned}$$

Since  $\langle H, e_i \rangle = 0$  and  $R^{\mathbb{S}^n}(X, Y)Z = \langle Y, Z \rangle X - \langle X, Z \rangle Y$ , we get

$$(3.3) \quad \sum_{i=1}^m R^{\mathbb{S}^n}(\tau_f(\mathbf{i}), d\mathbf{i}(e_i))d\mathbf{i}(e_i) = m^2 f H + (m-1) \text{grad}^M f.$$

We compute

$$(3.4) \quad \sum_{i=1}^m \nabla_{e_i}^{\mathbf{i}} f \nabla_{e_i}^{\mathbf{i}} \tau_f(\mathbf{i}) = \nabla_{\text{grad}^M f}^{\mathbf{i}} \tau_f(\mathbf{i}) + f \sum_{i=1}^m \nabla_{e_i}^{\mathbf{i}} \nabla_{e_i}^{\mathbf{i}} \tau_f(\mathbf{i}).$$



The first term on the left-hand side of (3.4) is

$$\begin{aligned}
 \nabla_{\text{grad}^M f}^{\mathbf{i}} \tau_f(\mathbf{i}) &= m \nabla_{\text{grad}^M f}^{\mathbf{i}} f H + \nabla_{\text{grad}^M f}^{\mathbf{i}} \text{grad}^M f \\
 &= m |\text{grad}^M f|^2 H + m f \nabla_{\text{grad}^M f}^{\mathbb{S}^n} H + \nabla_{\text{grad}^M f}^{\mathbb{S}^n} \text{grad}^M f \\
 &= m |\text{grad}^M f|^2 H + m f A_H(\text{grad}^M f) + m f (\nabla_{\text{grad}^M f}^{\mathbb{S}^n} H)^\perp \\
 &\quad + \nabla_{\text{grad}^M f}^M \text{grad}^M f + B(\text{grad}^M f, \text{grad}^M f) \\
 &= m |\text{grad}^M f|^2 H + m f A_H(\text{grad}^M f) + m f (\nabla_{\text{grad}^M f}^{\mathbb{S}^n} H)^\perp \\
 (3.5) \quad &\quad + \frac{1}{2} \text{grad}^M (|\text{grad}^M f|^2) + B(\text{grad}^M f, \text{grad}^M f).
 \end{aligned}$$

The second term on the left-hand side of (3.4) is

$$\begin{aligned}
 f \sum_{i=1}^m \nabla_{e_i}^{\mathbf{i}} \nabla_{e_i}^{\mathbf{i}} \tau_f(\mathbf{i}) &= m f \sum_{i=1}^m \nabla_{e_i}^{\mathbf{i}} \nabla_{e_i}^{\mathbf{i}} f H + f \sum_{i=1}^m \nabla_{e_i}^{\mathbf{i}} \nabla_{e_i}^{\mathbf{i}} \text{grad}^M f \\
 &= m f \sum_{i=1}^m \nabla_{e_i}^{\mathbf{i}} (e_i(f) H + f \nabla_{e_i}^{\mathbf{i}} H) \\
 &\quad + f \sum_{i=1}^m \nabla_{e_i}^{\mathbf{i}} (\nabla_{e_i}^M \text{grad}^M f + B(e_i, \text{grad}^M f)) \\
 &= m f (\Delta^M f) H + 2 m f \nabla_{\text{grad}^M f}^{\mathbb{S}^n} H \\
 &\quad + m f^2 \sum_{i=1}^m \nabla_{e_i}^{\mathbf{i}} \nabla_{e_i}^{\mathbf{i}} H + f \sum_{i=1}^m \nabla_{e_i}^M \nabla_{e_i}^M \text{grad}^M f \\
 &\quad + f \sum_{i=1}^m B(e_i, \nabla_{e_i}^M \text{grad}^M f) + f \sum_{i=1}^m A_{B(e_i, \text{grad}^M f)}(e_i) \\
 (3.6) \quad &\quad + f \sum_{i=1}^m (\nabla_{e_i}^{\mathbb{S}^n} B(e_i, \text{grad}^M f))^\perp.
 \end{aligned}$$

By the Lemma 3.2 we have

$$\begin{aligned}
 \sum_{i=1}^m \nabla_{e_i}^{\mathbf{i}} \nabla_{e_i}^{\mathbf{i}} H &= -\frac{m}{2} \text{grad}^M (|H|^2) + 2 \sum_{i=1}^m A_{(\nabla_{e_i}^{\mathbb{S}^n} H)^\perp}(e_i) \\
 (3.7) \quad &\quad + \sum_{i=1}^m B(e_i, A_H(e_i)) + \Delta^\perp H.
 \end{aligned}$$

From the equation

$$\text{trace}(\nabla^M)^2 \text{grad}^M f = \text{Ricci}^M(\text{grad}^M f) + \text{grad}^M (\Delta^M f),$$

and the formulae (3.3), (3.4), (3.5), (3.6) and (3.7), the Theorem 3.1 follows.  $\square$

**Example 3.3.** We consider

$$M = \mathbb{S}^m \left( \frac{1}{\sqrt{2}} \right) \times \left\{ \frac{1}{\sqrt{2}} \right\} = \left\{ \left( x_1, \dots, x_{m+1}, \frac{1}{\sqrt{2}} \right) \in \mathbb{R}^{m+2} \mid \sum_{i=1}^{m+1} x_i^2 = \frac{1}{2} \right\},$$

a parallel hypersphere of  $\mathbb{S}^{m+1}$ . The second fundamental form of  $M$  is

$$B(X, Y) = \nabla d\mathbf{i}(X, Y) = \langle X, Y \rangle H,$$

where  $H = -\eta$  and  $\eta = (x_1, \dots, x_{m+1}, -\frac{1}{\sqrt{2}})$  ([1], [9]).

From direct calculations we have

$$A_H X = -X, \quad (\nabla_X^{\mathbb{S}^{m+1}} H)^\perp = 0 \text{ for all } X \in \Gamma(TM) \text{ and } \Delta^\perp H = 0.$$

Let  $f \in C^\infty(M)$  be a smooth positive function and  $\{e_1, \dots, e_m\}$  be an orthonormal frame, then

$$\begin{aligned} \sum_{i=1}^m A_{B(e_i, \text{grad}^M f)}(e_i) &= -\text{grad}^M f, \quad \sum_{i=1}^m B(e_i, A_H(e_i)) = -mH \\ \sum_{i=1}^m (\nabla_{e_i}^{\mathbb{S}^{m+1}} B(e_i, \text{grad}^M f))^\perp &= (\Delta^M f) H. \end{aligned}$$

According to Theorem 3.1, the inclusion map  $\mathbf{i}$  is  $f$ -biharmonic if and only if

$$\begin{cases} -2(m+1)f \text{ grad}^M f + \frac{1}{2} \text{ grad}^M (|\text{grad}^M f|^2) \\ + f \text{ Ricci}^M(\text{grad}^M f) + f \text{ grad}^M (\Delta^M f) = 0, \\ (m+1)|\text{grad}^M f|^2 + (m+2)f(\Delta^M f) = 0. \end{cases}$$

#### 4. $f$ -biharmonic Curves in $\mathbb{S}^3$

**Theorem 4.1.** Let  $\gamma : I \subset \mathbb{R} \rightarrow \mathbb{S}^3$  be a differentiable curve parametrized by arc length, and let  $f : I \rightarrow (0, \infty)$  be a smooth function. Then, the curve  $\gamma$  is  $f$ -biharmonic if and only if

$$\begin{cases} f f''' + f' f'' - 4k^2 f f' - 3k k' f^2 = 0, \\ 3k f f'' + 4k' f f' + 2k (f')^2 + k'' f^2 - k^3 f^2 - k \tau^2 f^2 + k f^2 = 0, \\ 4k \tau f' + 2k' \tau f + k \tau' f = 0, \end{cases}$$

where  $k$  is the geodesic curvature and  $\tau$  is the geodesic torsion of  $\gamma$ .

*Proof.* Let  $\{T, N, B\}$  be an orthonormal frame field tangent to  $\mathbb{S}^3$  along  $\gamma$ , where  $T = d\gamma(d/dt)$  is the unit vector field tangent to  $\gamma$ ,  $N$  is the unit normal vector field in the direction of  $\nabla_T^{\mathbb{S}^3} T$  and  $B$  is chosen so that  $\{T, N, B\}$  is a positive oriented basis. Then we have the following Frenet equations

$$(4.1) \quad \begin{cases} \nabla_T^{\mathbb{S}^3} T = k N, \\ \nabla_T^{\mathbb{S}^3} N = -k T + \tau B, \\ \nabla_T^{\mathbb{S}^3} B = -\tau N. \end{cases}$$

The tension field of the curve  $\gamma$  is given by

$$(4.2) \quad \tau(\gamma) = \nabla_{\frac{d}{dt}}^{\gamma} d\gamma\left(\frac{d}{dt}\right) = \nabla_T^{\mathbb{S}^3} T.$$

By (4.1) and (4.2), the  $f$ -tension field of the curve  $\gamma$  is given by

$$(4.3) \quad \tau_f(\gamma) = f' T + k f N.$$

The curve  $\gamma$  is  $f$ -biharmonic if and only if

$$(4.4) \quad f R^{\mathbb{S}^3}(\tau_f(\gamma), d\gamma\left(\frac{d}{dt}\right))d\gamma\left(\frac{d}{dt}\right) + \nabla_{\frac{d}{dt}}^{\gamma} f \nabla_{\frac{d}{dt}}^{\gamma} \tau_f(\gamma) = 0.$$

By (4.3), the first term on the left-hand side of (4.4) is

$$(4.5) \quad f R^{\mathbb{S}^3}(\tau_f(\gamma), d\gamma\left(\frac{d}{dt}\right))d\gamma\left(\frac{d}{dt}\right) = k f^2 N,$$

here  $R^{\mathbb{S}^3}(X, Y)Z = \langle Y, Z \rangle X - \langle X, Z \rangle Y$  for all  $X, Y, Z \in \Gamma(T\mathbb{S}^3)$ .

By (4.1) and (4.3), the second term on the left-hand side of (4.4) is

$$(4.6) \quad \begin{aligned} \nabla_{\frac{d}{dt}}^{\gamma} f \nabla_{\frac{d}{dt}}^{\gamma} \tau_f(\gamma) &= (f f''' + f' f'' - 4 k^2 f f' - 3 k k' f^2) T \\ &\quad + (3 k f f'' + 4 k' f f' + 2 k (f')^2 \\ &\quad + k'' f^2 - k^3 f^2 - k \tau^2 f^2) N \\ &\quad + (4 k \tau f f' + 2 k' \tau f^2 + k \tau' f^2) B. \end{aligned}$$

The Theorem 4.1 follows from (4.5) and (4.6).  $\square$

## References

- [1] R. Caddeo, S. Montaldo, C. Oniciuc., *Biharmonic submanifolds of  $\mathbb{S}^3$* , Int. J. Math., **12**(2001), 867-876.
- [2] N. Course, *f-harmonic maps which map the boundary of the domain to one point in the target*, New York Journal of Mathematics, **13**(2007), 423-435.
- [3] A. M. Cherif and M. Djaa, *On generalized f-harmonic morphisms*, Comment. Math. Univ. Carolin., **55**(2014), 17-27.
- [4] J. Cieslinski, A. Sym and W. Wesseliuss, *On the Geometry of the Inhomogeneous Heisenberg Ferromagnet Model: non-integrable case*, J. Phys. A: Math. Gen., **26**(1993), 1353-1364.
- [5] M. Djaa, A. M. Cherif, K. Zegga and S. Ouakkas, *On The Generalized of Harmonic and Bi-harmonic Maps*, International Electronic Journal of Geometry, **5**(1)(2012), 90-100.
- [6] J. Eells, *p-Harmonic and Exponentially Harmonic Maps*, lecture given at Leeds University, June 1993.
- [7] J. Eells and J. H. Sampson, *Harmonic mappings of Riemannian manifolds*, Amer. J. Math., **86**(1964), 109-160.
- [8] G. Y. Jiang, *2-Harmonic Maps Between Riemannian Manifolds*, Annals of Math., China, **4**(1986), 389-402.
- [9] E. Loubeau and C. Oniciuc. *On the biharmonic and harmonic indices of the Hopf map*, Transactions of the American Mathematical Society, **359** (2007), 5239-5256 .
- [10] S. Ouakkas, R. Nasri and M. Djaa. *On the f-harmonic and f-biharmonic maps*, JP J. Geom. Topol., **10**(1)(2010), 11-27.
- [11] M. Rimoldi and G. Veronelli, *Topology of steady and expanding gradient solitons via f-harmonic maps*, Diff. Geom. Appl., **31**(2013), 623-638.
- [12] S. T. Yau, *Harmonic functions on complete Riemannian manifolds*, Comm. Pure Appl. Math., **28**(1975), 201-228.